








SOUTH END CENTRE 
Mathematics 
Class-V 
Worksheet-1 
Unit: Chapter 1-Review 
 
1.Find the HCF of: 

a) 120,180,300 
b) 180,270,459 

2.Find the LCM of: 
a) 20,30,45,75 
b) 320,440,640 

3.Find the value of: 
a) ⅚of a week. 
b) ⅗ of an hour. 
c) 4/10 of a kg. 

4.Write in ascending order: 
a) ⅗ ,⅞, ¼, ½, ¾  

5.Simplify: 
       a)4 ½ + 7 ¾ + 2 ⅖  

b) 4 ⅔ ÷ ⅗ * 5 ⅗  
c) 84.36 - 48.78+ 15.65 - 32.009 
d) (7/9 + ⅘)÷(4 ½ - 2 ¾ ) 
e) 252.5÷ 0.15 

6.Find the place value of 9 in the following: 
a) 12.93 
b) 0.009 
c) 729.694 
d) 35.6409 

7.Express the following percentage as fraction: 
a) 6% 
b) 4.56% 
c) 0.75% 
d) 14.7% 

8.Change the following into percent: 
a) 9.6 
b) 3 ½  
c) 7 ¾  
d) 0.35 

9.Find the ratio between the following: 
a) 4m and 80cm 
b) 2kg and 450gm 
c) 1quintal and 35kg 
d) 7hrs 15min and 87 mins 

10.Express the following ratio or whole numbers: 
a) 16:80 



b) 7:28 
c) 105:315 
d) 4 ⅕ : 2 ⅕  

11.Find the loss or gain percent: 
a) CP= Rs.700,SP= RS.650 
b) CP= RS.1850,SP= RS.1820 

12.Answer the following questions with statement: 
a) A biscuit packets weight 55.4gms.Find the weight of 25 such biscuits packets. 
b) Divide 55.65kg of sugar equally among 13peoples. 
c) 100gms of tamarind cost Rs.9.50.What is the cost of 4kg of tamarind. 
d) 12men can mow a garden in 3hours.How many men will complete the same work in 

9hours? 
e) Find the perimeter of a square field whose side is 25m.What will be the cost of 

fencing at the rate of RS.7.50 per metre. 
f) A dozen mangoes cost Rs.35.How many mangoes can be brought for Rs.1050. 
g) A shopkeeper bought a table for RS.2840 and sold it for RS.3000.Did he incur a loss 

or gain? How much? 
h) A empty basket weighs 2 ½ kg.If 4 ¼ kgs of potatoes and 3 ⅚ kgs of onions are put 

inside the basket,what is the weight of the basket? 
 
 
 


